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[ RO ©@osnso : 100

[ Max. Marks : 100

Qn. Ans. Marks
Value Points
Nos. | Key allotted
L 1. Z e n (ATl
U
AB
> 6
Ans. :
A 3 1
2. ¢ o bl Ll B n QL
Ans. :
A n(n+1) 1

PF & PR-7012 [ Turn over




81-U 2 CCE PF & PR
Qn. Ans. Marks
Value Points
Nos. | Key allotted
3. (Pair) S22y Llsle 2Lt (Coats) oo 2 usl (Shirts) uj/“ 3L LI
_z‘;.“ %Lu.’.‘:"./”_&ffzw/fb
Ans. :
C 6 1
4. ‘Lt'}u;’;u;gla :/ré,;l}}(Lyfﬁ w&;:%;/s:lm/;lgg (Event) .;;"'...._l:/lJLfnéi_..«g
Ans. :
D =l /{r’? ! 1
5, ¢ bl Qe tblE e (x-2) p(x)=x2- x+ 1872
Ans. :
B 3 1
6. ¢ < bnlfdeb¥ (p, q) LIS < (Origin) s+
Ans. :
C p2 + q2 1
7. ¢ w5092 —yul 3 (Slope) uuﬂfufgjy‘g.dﬁgafﬂ/d/b}ug
Ans. :
D y = 3x+35 1
8. %L”ﬁ,})% ;/'/Lbé)/’j_-@d 7 cm
Ans. :
B 616 cmz. 1

PF & PR-7012




CCE PF & PR 3 81-U
Qn. . Marks
Nos. Value Points allotted

IL. 2zt Se i f st 6x1=6

9. _ép’-”‘ (HCF) J}f’(%u{ 21 sl 14
Ans. :
14= 2x7
21=3x7 Ya
HCF = 7 v,
[ Direct Answer full marks | 1 iﬁ.,,b?.;wb 1
10. ...3|f| Sslrr sl 23l 60 (mean) L-sf KUy Li e JJJJ@(.,Q e u;f:...‘:.x’//, 15
_EE b (V) 8k8 800 PSUY e 15 (SD)
=" i 44 ‘
Ans.
X =60
c = 15
A e
CV. = =2x100 Cv. = — 7 ¥100 Ya
X
15 L 15
= 21 Y = 21
0 x 100 0 x 100
= 25. = 25 2 1
11. -’&%}Kf( x) = x2 -3x3 +2 174
Ans. :
3 P73 1
12.] ¢ q;’:icf (Congruent Circles) (_.J;UJ“V
Ans. :
LS };bi_lséj/ﬁ._iﬂ)dsl/ .Lg ;Jijiji}'}cég.//b VA
ufi.}fj|j1£/ ;Uﬁféx/’s-wdjv v,
. 4 r s
~Jr e s JV 1
P - ) 5 F
13. ..éigc,«f’,d/cosece Yy sin 0 =E/|
Ans. :
13
0= —
cosec S )
PF & PR-7012 [ Turn over




81-U 4 CCE PF & PR
13:8 Value Points al:::::‘:’ P
14, _’&%L%J_./(}” (Total surface Area) é)(i/fgf;l?buﬁﬁ'
Ans. :
KK w115 onr (r+ h) JLKIT, 1
M. 15. 5:—:&‘-?nA={1, 43, B={1, 3}y »sU={0, 1, 2, 3, 4;fl
(AuB)=ANnB

Ans. :

(AUB)' =A' nB' J/?c;“:"e

LHS = (AUB)'

AUB = {1, 3, 4}

(AUB)' = {0, 2} . (i) Ya

RHS = A' N B!
A' ={0, 2, 3} }
B' ={0, 2, 4} Yo
A'NB'= {0, 2} ... (i) Vo
D (id) 4 (1) sl
(AUB)' =A' NnB! Yo 2

EAD LA
16.

34+7 % 114 e, LUKl 10

Ans. :

3+7+11......... £k 10
a=3
d=4

Snzg[2a+(n—1)d] Vs

PF & PR-7012




CCE PF & PR S 81-U
Qn. . Marks
Nos. Value Points allotted

10
310:7[2(3“(10_1)4] Yo
10
= —[6+9 (4
S [6+9(4)]
- 10 [6+36] Yo
2
= 5x42. 2
Sip = 210 Yo
R e o ooy b 30 Pisn L8 QL seitzan 24°C
WL L by £ 100°C 7o QL -c bl by 3LolE 420 B Ut el
.,’cf':rpj"'c‘_.ud/)z_)u ¢ d".CF
Ans. :
a = 24°C =24
d =4 Yo
T = 100
n
n=7>2
T = a+(n-1)d Yo
100 = 24+ (n-1)4
100 = 24 +4n-4 v,
100 = 20 +4n
n= 20
4
n = 20 minutes. (20 — 1) = 19 minutes .E 20 minutes. Ya 2
e (Pnfer 19 eruh 20 gL n=19 P L twa=28
- )U’SL.‘Q /’J:Lf*...wb‘d[

PF & PR-7012

[ Turn over



81-U

CCE PF & PR

Qn.

Nos.

Value Points

Marks
allotted

18.

19.

_9),@-_);5’7,?_1_.’:2 + \/gfégvl:’

Ans. :

I LIF

2+J§:£, b, gez, qio
q

pP-2q
q

-, -
..g_:ﬁvls"'..éi

Jr.’./c_ﬁu';’" a¢ \/g

‘.1-_._51,51.5:/5‘(_;&:“‘; S J5 O'EJ

-‘L.:ﬁ;,';y/;; 2+ '\/5

_Z e d§ n e Py =20 ("R,

Ans. :

np _ n
P, =20 P2

n(n-1)(n-2)(n-3) =

(n-2)(n-3) = 20
n? -3n-2n+6 =20
n? -5n-14 = 0

n2 -7n+2n-14 = 0

n(n-7)+2(n-7) =

(n-7)(n+2)=0
n-7=0
n=17197

=

)i

20n(n-1)

b (n-2)(n-3) = 5x4 )
= n-2=5

5+2

n =

n="17

Yo

2

2

Yo 2

2

A

0

te—
S
+
N
Il
o

(Q)JJGJ}’QI)

PF & PR-7012




CCE PF & PR

81-U
Qn. . Marks
Nos. Value Points allotted
00.| ¥ 3laweed UriS Uil 6 & 1 ,;uiiiu)-tf@g;/ug(mce),ﬁgug
- UKL 226 (Multiple) Lo
Ans
n(sS) =6 P(AUB)=P(A)+P(B)-P(AN B)
A=1{2 3, 4 6} _ 3,2 1 Ya
n(A) = 4 3 6 6
_n(A) = — 1
p(A) n(S) 6 /2
4 2
- 2= 1
6 3 & 2
21.1 ¢ @gé:leﬁJ~ViJJfJfﬁ'ﬁJ“V
Ans. :
_ug.‘&(;:c-_fig.;ul,@:i (Same) .,,_,:}uufut.:,;ﬂo{}u Lrt,,i'}?)i,ﬁi'/i : )Uﬂf"JV
_ Yo+
uﬁ»g,t;.fsg,ul,.f/égh,,;}uL_f/éu:mﬂg}w@iﬁ;wf’i : ;I,scllf"l{\,"l,"/;é
,.J“E'éjuff
Yo+ Y 2
oo | 27l PV
J[5+43
5-73
Ans. :
FifE _J5id5 543 )
= 2
_ _[5+BF "
(V5)? - (4/3)
_ 5+3+2/15 "
2
8 + 2415
2
= 4+ ,15 . Yo 2

PF & PR-7012

[ Turn over



81-U 8 CCE PF & PR

Qn. Marks

Value Point
Nos. atue Toints allotted

e LT bW e g (x) = (x-3)F F(x) = 2x° -3x2 +5x - T o2
-é()”;db‘*léfﬁ:&(} (Remainder) Jl,;sl (Quotient)

23.

!
-’i:()"“‘ (Zeros) FLp(x) =x? —15x + 503872

Ans. :

flx) = 2x3-3x% +5x-7

g(x) =x-3
3 2 -3 5 -7

\2 6 9 42 "

2 3 14 35 v,
g(x) = 2x% +3x+ 14 Ya
r(x) = 35. Yo 2

b

f(x) = x?-15x+ 50
1wl G
f(x) =0

x2 -15x+50 = 0

x2 ~10x-5x+50= 0 Yy

x(x-10)-5(x-10)= 0 Yo

PF & PR-7012




CCE PF & PR 9 81-U
Qn. . Marks
Nos. Value Points allotted
(x-10)(x-5) = O Va
x-10 = 0 b x-5 =0
x = 10 x =5
CUPEGE 25l x= 10 Ya 2
04| X2 -12x+27=0: 2 fe J1blo
Ans. :
a=1, b=-12, c¢ = 27
—bi‘/b2—4ac
x = Yo
2a
S(—12) 2y (122 —4(1)(27)
* 2(1)
12i‘/144—108 L
x = 5 Yo
_ 12i1/36
*T T
12+6
x = 5 Yo
. = 12+6 or . = 12-6
2 2
x = 18 or x = )
2 2
x =9 or x =3 Yo
2
PF & PR-7012 [ Turn over




81-U 10 |CCE PF & PR

Qn. . Marks
Nos. Value Points allotted
25. K/“Jc:.y}ic'__jb-é:)b (Chord) };VQKdye cm e ML P id 5 cm
&St
Ans.
A
)
B
A
B
I
I
X
57> Circle Yo
s Chord Ya
L5 Sk s Yo
_;tu"OC = 4 cm. A 2

PF & PR-7012




CCE PF & PR 11

81-U
Qn. . Marks
Nos. Value Points allotted
26.| ABICDIAD=4 cmuslBD =8 cm/l-cBD L ACssl |ABC= 90° s\ ABC
: ér,h*
A ¢
R,
D
&
Cel
B C
t
XYCB < 7910 em? 56 A AXY/) .« XY=1BC s XY || BC J* A ABC
‘ 2
..ér!b/:’:’{
A
X y
B > o
Ans. :
A
g
&
D
&
®
B C
BD?= AD.CD v,
82=4.CD
64
- ¢cp
s =cC
CD = 16 cm Yo
AC = CD+AD = 16 +4 = 20 cm Ya

PF & PR-7012 [ Turn over




81-U 12 CCE PF & PR
Qn. . Marks
Nos. Value Points allotted

AB2 = AD. AC
= 4 x 20
ABZ = 80
AB = [80 = [16x5 = 445 cm Y| o
Lb&}u":l.dw‘ii,'ﬂ“ /J’J)I::'c_/uéy(
b
A
X Y
B > C
Since XY || BC
- 2
S8 (A AXY XY
A AXY = A ABC i ( ) = . v
3% (AABC) BC
- 1
JE(AAXY)  XY? v XY = S BC
JK (AABC)  4xy? 2XY = BC
Yo
w1
J6§AABC) 4
25 A ABC = 40 s
2 [\ XYCB = 40 - 10
= 30 cm?. Yo 2
27.] cotO.cosO +sinO =cosecH : Z‘i/_-rlr
Ans. :
cot 0. cos O + sin 0 = cosec 0
LHS = cot0.cos0+sin0
= Cc,)se.cosE)JrsinG Yo
sin O
_ 0032 0 +sin2 0 1,
sin 0
sin 0
= cosec 0. Yo 2
(L,f.?élgé.:JgLu:/fa.:g)’JJQ_,/b‘Jsid;)

PF & PR-7012




CCE PF & PR 13 81-U
1:12:: Value Points al:::::as d
0g.| U lo—c bt (Graph) ErSelon P bl /. g KL it oL
: ’2’:}}"‘ (Slope) W3
X-axis I 1 2 3 -+
Y-axis V 2 B 6 8
Y
8
Scale :
7 X-axis : lunit=1em
Y-axis : l unit =1 cm
6
5
4
> 3
2
1
X
0 1 2 3 4 S 6 7 8
I — >
Ans. :
(x,, yy) =(1,2)
(x5, Yg) = (2, 4) v
Yled = Y279 s
Xo =X
gs = = 2222, 1
2-1 1
< (xl’y1)=(2»4) (x2,y2)=376
Lo yp) = (3,06) (X9, Yp) =4 8
_u“'?ilgil;l'ﬁ;udid!@ii.)’()b’uﬂﬂ; 2
(U 2 e 3 A s
PF & PR-7012 [ Turn over




81-U 14 CCE PF & PR

Qn. . Marks
Nos. Value Points allotted
20. : &b (Plan) S b e s 2 S 50
[20m=1cm: 2K ]
wrfc
140
- D 50 100
60 £ B 40
£ E 30 40
~ A
Ans. :
40m = 2—10><4O = 2 cm
60m = —— x60 = 3cm
20
100 m = i x 100 = 5cm
20
14Om=2—10><140=7cm Yo
30m = i x 30 = 1-'5cm
20
50m = i x 50 = 2-5cm
20
C
40|
D SO0m H
60 172
40
G m B
20
30 m
E F
)A 2

PF & PR-7012




CCE PF & PR 15 81-U
Qn. . Marks
Nos. Value Points allotted

30. -g_t‘),,vﬂfoJUffufH‘qug:.uf (Companies) U};“.;{ 8 s d_t Jf’/l/
¢ e (e U SE WU Kl Loy 7
Ans. :
B P E o 3 e tudd 8 dhik L
803 Ya
8P
8C3 _ "3 Yo
3!
B x7Tx& 1
C Bx2x1 &
= 56. 72 2
31. -’é-&flédaﬂbi./};lb. A\B ?ﬁ;}’?(Non—diSjoint] igizé_/:,;aJ Bul A
Ans. :
U
A B
{é B A /l::;}bLUL./EfJ 1
42_./ Shade 1 2
32. ﬁé‘ig.:wr"rl;d/u’f Qujg/_/ (Arithmetic progression) ,@Lajdlr’
Ans. :
b\ e sw PTUINP L SHIL
b
o t‘ﬂfb)ﬁflgi_/g‘:ﬁf};gﬁc}?éﬁu%}lﬁ.g
“c.t'lL:C«GLAJQL?
a a+d, a+2d, a+3d ..ol 1 2
PF & PR-7012 [ Turn over




81-U 16 |CCE PF & PR

Qn. Value Points Marks

Nos. allotted

33. :.ff*gﬁ_xi.}:?iim?u!_ugufb(?w?uféfui’u’-ugwi 10 =~ (Plane) 5’_@

¢ gLk
Ans.
n = 10
r=3
n n! 1
C, = ——— Y.
r T (n-r)irt §
|
1oc _ 10! 1
3 (10-3)!3!
_ 10! )
7131 %
= 120. Vs 2
3 A0
10
10~ _ _ 13
3 3!
10x9x8
3x2x1
= 120.

34. uu.i_/,”qwfh.-.,wsﬁ"nat-);ubxﬁuch; J;GZ..};/“"?_#E:)Q.‘:JM?LZJ@»H‘?J&.‘CI

! Z-k (pie-chart) ._‘u;gé_l;

(‘ULUJ{C‘/ (Novels) ds‘.‘ uggﬂff (Magazines) — L~ | Journals

RS 10 60 20 30
Ans. :
Name of the books No. of books Central angle
1. Novels 10 10 «360 = 30°
120
2. Short stories 60 60 260 = 180°
120
3. Magazines 20 20 360 = 60° 1
120
4. Journals 30 30 360 = 90°
120
SSE = 120

PF & PR-7012




CCE PF & PR 17 81-U

13:8 Value Points al:::::‘:’ P
1
2
35.| 75 +4108 - J192 : &L ¥
Ans. :
V75 + 4108 - 192 = [25x3 +,/36 x 3 - /64 x 3 1
= 543 +643 - 843 Ya
= 343. Vo 2
36, _é(}#_-,ﬁc-,;t;,;é_/(:};-.g[x)=(x+2)fp(xl = x® +ax+2 § 4
Ans. :
P(x) = x2+4x+2 g(x) = (x+2)
P(x) =1[g(x)*q(x)]+r(x) }
x> +4x+2 = [(x+2)(ax+b)]+r(x) 1
= ax2+bx+2ax+2b+r(x)
x2+4x+2 = ax? +x(b+2a)+2b+r(x)
a=1 b+2a =4 2b+r(x)=2
b= 4-2 b=2 r(x) = 2-4 Yo
rix) = -2
el = (x+2)
3= o AR

PF & PR-7012 [ Turn over




81-U 18 CCE PF & PR
Qn. . Marks
Nos. Value Points allotted

37| M a=2 w=0LZEprell v g FL Ly Fnv? =u® +2as i
-<s =100

Ans.

v2 = u? 4 2as

v = Ju? +2as Yo

if u=0, a=2, s=100, v =7+

v=+/0+2(2)100 Yo

v = + /400 Yo

v = = 20. Yo 2
38. Z_Laafr_'_/d,;slic.uulff:{_}f 12 JHJLLJJZ;;JL?HQJMVJ}JO)LU;

_ZE e S T 2 13 Jobiglnd o S TL

Ans. :
A
13 m
h
—
B 12 m
h— Gkl

H1g = QG vl e

g = Aol o 74 Té:d“. Ll /u’{ﬁi.:.utf

AC? = AB? + BC?
132 = h2+122
169 = h?2 + 144
169 — 144 = h?

PF & PR-7012

Yo

Yo

Y2

72 2



CCE PF & PR 19 81-U
Qn. . Marks
Nos. Value Points allotted

39. : f;‘.fab'
(sin9+cos9)2 =1+ 2 sin 0 cos 6.
Ans. :
L.H.S. = (sin 0+ cos )2
= sin?0+cos?0+2sin0.cos O 1
= 1+2sin6.cos0 1 2
40. Q'Jﬁiﬁdbf-ﬁ (Line segment) .ab".fﬁ_ljé_}:?;(& 6). (14, 12)bE
,g"}bf (Co-ordinates)
Ans. :
x) = 14 Xy = 8
yp = 12 Yy, = 6 Vo
d:)ﬁﬁ,gﬁj’,d _ | X1t %2 ’ Y1 Y, 1,
2 2
d = 14 +8 , 12+ 6 1
2 2
2 7 2
= (11, 9) Yo 2
V. 41.| Pweldrsc 112 A KU EE sl 14 ;:fb’u%ldf%ﬁﬁ@dfﬁugf

T

JYJE«K b sl a fé.:.rL";c‘_. ‘D hal$yil a sl <« 'a leL}L?K cul bl
~& by 'c bl
Ans. :

a ar, ar?, ar, ar®, ar® BN 1ol S S J/

PF & PR-7012 [ Turn over



81-U 20 CCE PF & PR

Qn. . Marks
Nos. Value Points allotted
a+ar+ar? = 14
a(l+r+r2) = 14 .. () Vs
ard + ar* + ar® = 112
ard 1+r+r2) = 112 ... (ii) Ya
10 (i) 2 () el S i) S () el
r3(14) = 112 ar3(1+r+r2)_112
rd = £= L a(1+r+r2) 14
14 *
3 r3 =8
r=~8 =2 _ 1
r=2
(S =2 U (i) 2l
a(1+2+22) = 14
a(7) = 14 Ya
a= 2
L 2,4 8, 16, 32, 64 #WUrss Y
- Cﬁx;ﬁj;?'fud:( 3
:
b
a= 225 b= yJac
b2 = ac Yo
b
a = ;C Ya
da - b+ e U (4 b U LHS.
QCbtb - bt AP b e 1
2ab = b(b+c)
2ab = b? + be Yo
2ab = ac+ bc
2ab = c(a+b) Yo
2ab  _
a+b
K bua g_»ﬂdng c 1 3

PF & PR-7012




CCE PF & PR 21 81-U
Qn. . Marks
Nos. Value Points allotted

. YA
b
a = ;C () b = Jac
b2 = ac
ac
b= — 1
b
1E ) b= Y
ac .
a= 2L Yo
2
0q = ac + bc 1,
b
2ab = c(a+b) Yo
2ab 1
= Y
a+b ? 3
a42.| LL S LUt (Unit test) Loy L (Mathematics) (e A 30 £ stz
L 2E ol (Variance) d/&iJaD?.U?EZL:JE&» (Marks).::.-l/',’}
= 44 0§ %
Marks (0) = %| 4 8 10 12 16
(f) S| 13 6 4 3 4
Ans. :
Assumed mean method : 4.') e du’/v
X fold=x-a| s a2 fad?
4 13 -6 ~ 78 36 468
8 6 ~ 2 ~12 4 24
10 4 0 0 0 0
12 3 2 6 4 12
16 4 6 24 36 144
n=30 A=10 Y fd=+60 Y fd?= 648 1%
PF & PR-7012 [ Turn over




81-U 22 CCE PF & PR
Qon- i Marks
Nos. Value Points Alotted

.o 2 2
o - 2fd _(Zfdj )
n n
_ 648 (60’ 5
30 30
= 216 - 22
= ].7'6 1/2 3
Direct Method : 5;’;‘/5 gV
X x2 f X Fx2
4 16 13 52 208
8 64 6 48 384
10 100 4 40 400
12 144 3 36 432
16 256 4 64 1024
n=30 Y fX=240 Y fx2= 2448 1Y%
) 2 2
Sk - ZSfX _[ZfX] ”
n n
2448 ( 240 )
B - Ya
30 30
= 816 - 82
= 17-6. 1, 3
Actual mean method. : —-'é:‘/!’;r"k’ &
X f fX d=X- Y d 2 fd2
4 13 52 -4 16 208
12 3 36 gl 16 48
16 4 64 8 64 256

PF & PR-7012




CCE PF & PR 23 81-U
Qn. . Marks
Nos. Value Points allotted

x o 2fX
n
240
30
- 2
Skl zfd® _ 528 1,
n 30
= 176 1 3
Step deviation Method : a3/ Qe
X Ffola=2241 fa | a2 Fd?
C
4 13 -3 -39 9 117
8 6 -1 -6 1 6
10 4 0 0 0 0
12 3 1 3 1 3
16 4 3 12 9 36
n=230 Y fd?= 162 1
A =10 C =2
51415, Lan Sfd? (Tfd )
SIS s ., = - x C Vo
n n
b
162 (30 )? )
30 (3 J 8 Variance = 2fd —(Zfdj x C2 ?
n n
= Jo-4-1x2 =15;2_(£sz4
_ [24x2 30 | 30 v,
= (54-1)4
= 21x2 = 44 x4
= 176
= 4.2
ek 2= (4.2)2 =17-6. v | 4
PF & PR-7012 [ Turn over




81-U 24 CCE PF & PR

Qn. . Marks
Nos. Value Points allotted
43. : éf}"”&ggﬂijéﬂ;@ﬁ g p upd: X% = 3x+2=0 /|
1 1
P g
3
_9bﬁd@d}b‘ix‘éiéfdJ&ifdf?‘arfﬁs/‘pﬁ%u 16 :(.5:"_;5),7[:’..9
_5")‘”}.]’&& &
Ans.
a=1 b=-3 c =2
b (-3
ptq= — = 3) s 72
a 1
c 2 1
= e—_— = — = /
p p 1 2 2
1 _1_g-p Vs
b q bpgq
2
+ -4
_ . \/(p q)” —4rq "
bq
L 3%-a(2)
- 2
9-8
= £ V2
2
1
2 § 3
1111 (UG E S foe 3 SIS0
r q 2
b
sied cp = x
=31 e8P = 16
) x—-16 X
C)Lo;} = o = _X _ X X 100 1
X% = 760 ** = 100 L C 5 &
100x- 1600 = x
S.P. = C.P. —loss Yo
2
x
16 = - m

PF & PR-7012




CCE PF & PR 25 81-U

Qn. Value Points Marks

Nos. allotted

1600 = 100x— x>
x2 - 100x+ 1600 = O Ya
x2 = 80x —20x+ 1600 = 0

x(x-80)-20(x-80) = O

(x-80) (x-20) =0

x—-80=0 or x—-20 =0

x = 80 x = 20 1
L w204 180 xed (2 vl s
44.| BATULMN S L I LS b Qymde o Ll o oal S EE ek

‘_r L s (Collinear)

Ans. :
4 X
|
|

|
|
|
|
vy

Yo
_%JV".EEJ P J)lﬂ/lféu}jIJLbé_/{/‘{J}bdjﬂ B sl A J}/a" 1,

BBA P A BeA : SetSonk 1 o v,
-g XPY JV & 3Jf Yo

L S s’
APX = 90° ... (i (/'ju-e»‘?) J_u"[/)
BPX = 90° ... (ii) (/?jh,a,-é’j %)
Yo
| APX +| BPX =90 + 90 4450/ (i) 4o (i)
APB = 180° e A aBP L9 Yy
-Lgﬂ.w{;&APBiu’I 3

PF & PR-7012 [ Turn over




81-U 26 |CCE PF & PR
Qn. . Marks
Nos. Value Points allotted

45. cot® = \/3 é..‘:.:l:";ﬁ (Acute) 03y sl '0' uslsr 7 sin26 + 3 cos20 =4 /I

4 [{z-< tw 30° (Angle of elevation) ,.--;Wg;wmug;ﬁu/ L Jurslsh

d,dzd/;tgﬂ_q_m 60° w3li$see BISTL Jurmld S 24 _q.l‘.;/.:.'-?wi'

L

b 2 36003 = s

30

N

36003 m

C Q

Ans. :

4sin?0+3sin? 0+3cos? 0
4sin20+3(sin®0+cos?0)= 4

N

4sin20+3(1) = 4 )
. 9 4sin“6 =1
4sin“0=4-3 1
in20= L
2y 1 sin 7
sin =2 '
sin 0= —
sin 0 = l
2 00326 =1 —sin29
6 = 30° cos 0 = ‘ll—sinQO
cotO = ‘/§ 1
= 1__
e A p 4
L _ B
- 2
P P A
<
cos 0
g cotf = — 0
@ Sin
o
o 3 _
60 =
30 <
C 0 ‘* B

PF & PR-7012

¢

7sin29+300s26=4
7sin20+3[1-sin20]=4
7 sin20 + 3 -3 sin20 = 4

Y2

2
2




CCE PF & PR 27 81-U
Qn. . Marks
Nos. Value Points allotted

ABC =90° U~ B\ ABC
AB
tan @ = =—
an BC
. _ 360043 .
tan 30 BC Y
1 _ 360043
3 BC
BC = 360043 .3 Y
BC = 10800 m
POC = 90° U~ B\ PCO
tan 6 = Q
CcoQ
360043
tan 60° = C—QJ_ 1/2
‘/5 _ 360043
CQ
CO = 3600 m Ya
BQ = BC- CQ = 10800 — 3600
BQ = 7200 m Yo
i = 228
=3y
_ 7200
24
= 300 m/s Yo 3

PF & PR-7012

[ Turn over



81-U 28 |CCE PF & PR

Qn. Value Points Marks

Nos. allotted

46. | LW UP L nd 5o 25 hs I by Fatotid s, B5_ad ol

Z(()J:ﬂ?;ﬂ 30 cm JAJ' fJﬁJJ‘%ﬂﬁ 9 cm L}’AA'? cm /’jﬁdsﬁﬁ'(b:;

L
A
—_—
9:cm
B\__‘___?m c
30 cm
L—" 17 o
D\\_______/E
[

231 18 cm LFEUsslEUs L J il 4 cm saAAS (Frustum) <s55s Z_[]

_éf_:ph"éjfv’iﬁsﬁ’}:;?x 6 cm

‘l-”/ r = 7cm hy, = 9 cm
F6r s _ fm | A6 5
= nr2h1 +%nr2h2 Yo
- nr2(h1+%h2) v
3
- 2—72><72(21+%/><-9— ) v,
- % < Tx T (24) v
A 2 3696 c.c. vl 3
DR ES i Sopeid g L
L

-

PF & PR-7012




CCE PF & PR 29 81-U

Qn. . Marks
Nos. Value Points allotted
2nr, = 18 cm 2nr, = 6cm Il = 4cm Yo
r. = ﬁ — 2 cm 7, = i = E cm 1
1 on & 2 21 =&
508 F LK By
ﬂ:”‘f’v‘l‘g“’bu‘-'?’f = m(r +ry)l Y2
= n(ngiJ 4 Ya
T T
= 48 cm?. 7o 3

CSA =1 [nr1+7cr2]

419+ 3]

4112]
2

48 cm

v. 47| X x-2=0:Z Sl sl 57

Ans. :
J/J/[f/ y=20

x2-x-2=0 given

Graph roots

(ui») Juy_ 2
Parabola U5/, — 1
GEESUse_ e 4

PF & PR-7012 [ Turn over




81-U 30 CCE PF & PR

Qn. . Marks
Value Point
Nos. alue Toints allotted

y

Scale :
X-axis - 1 cm = 1 unit

Y-axis - 1 cm = 1 unit

(3, 4)

> Plotting the table — 1%
| Parabola — 1
| Straight line — Y%

o Values of x — %2+ %2

b 2 5o
x% =x+2
,fs/':,“y= x> nly=x+2
(i) y = x°
x | O 1 | -1] 2 | -2] 3 | -3
y | o 1 1 4 4 9 9

PF & PR-7012




CCE PF & PR 31 81-U
Qn. . Marks
Nos. Value Points allotted

i) y = x+2
X 0 1 2 -1 2
Yy 2 3 4 1 0
(U#h) du?_ 2
L Yy
Parabola — Yo
SESUse— e 4
Yy
Scale :
X-axis - 1 cm = 1 unit
Y-axis - 1 em = 1 unit
[_3= 9} (35 9)
(-2, 4) (2, 4)
xX -5 -4 -3 -2 -1 O 4 5 x
_1...
_2_.-
=34
—4--
_5 -
/
Yy
G -1 92 kel et
PF & PR-7012 [ Turn over




81-U 32 CCE PF & PR

Qn. Value Points Marks
Nos. allotted

48 Lgﬂ:ﬁbd’b’ip’ (direct) f)’-‘."..:.«/l;..gy(uﬁljniﬁﬁ 2 cm 4 4 cm

_&Uf..?..t&g.JJJV@;_un{dm 9 cm )/l/

Length of the tangent = 87 cm

4../lu..lg 9
D40 Tt 1%
dl‘.-"d/ufb"b Ya 4

49, -é.;,;l:‘wléug (Thale's theorem) o teki($s ¥
Ans. :

: kL4l Thale
e b B O B L S ek 1

PF & PR-7012




CCE PF & PR 33 81-U
Qn. . Marks
Nos. Value Points allotted

Yo
37 In A ABC, DE || BC }
AD AE
e Sesl: AD _AE Y
'(c = BD CE §
-’%.J’;?:’/ B« E 2l )/C.::.D X Jj
Draw EL 1 AB .3/ DN 1L AC. Ya
e
1
_.‘,‘ng ADE EXADXEL 1
ampEs o | A-3bh) i
i 5 < BDx EL
AADE  AD n
ABDE  BD
3 1/ AE
/K A ADE Z/X x DN y
" = — 2
Z&ACDE Y, po, pfr
AADE  AE
ACDE  EC
_ AD _ AE .. 2/ ACDE - /6 A CDE "
BD CE '
1~ sl
4
PF & PR-7012 [ Turn over




81-U 34 |CCE PF & PR
Qn. . Marks
Nos. Value Points allotted

50. A:Jfl/fdésfg:i»_.:‘:. L.};c:..di{ﬂJf'f 6 .::.r,:’z“.f:)wﬁrb/{cjfjc.zsjﬁin

r)b"'.l-"b'&_.vﬂ((‘ﬁ'»éi_;;ﬂ;/déﬂé&;J%LL/T.%WZJ;»J}f 8 &.-r);
&ynéc__/d{,ﬂc_ﬁa_/zd}(MLL/;)JJPL/L}{:IL&JJ%c:..'é.;/‘:'_é
RN AT

Zieb¥x BD: CD = 3 : BC J‘A ABC

1 /1 S eE s aD 4
BC? =2( AB? - AC?)

Ans. :

C 8m E 1
P
didess - ac=n
B 62 s =55 BC = 6m

E Mbe pdl il /w5 CE = 8m

dobulnd e /d{)ip{cf.i_/ésf/_ /d,..{:lé: =30 AE

U~ B\ BCE, | BCE = 90° Va
BE? = BC? + CE?
BE? = 62 + 82 1,
BE? = 36+ 64
BE? = 100
BE = [[100 = 10m 2
BE = AB = 10m

AL Lz bl

PF & PR-7012




CCE PF & PR 35 81-U
Qn. Value Points Marks
Nos. allotted

U~ B\ ACE, | ACE = 90°
AE? - AC? +CE?
= 162 +82 Y
= 256 + 64
AE? = 320 Yo
AE = [320
A
I
I
]
I
]
]
£
C
B D
AB? = AIY® + BD? . () Ya
_AC? = AD? +cD? . (i) Y
AB? — AC? = BD? - CcD? Vh
3 2 11 2
AB2_Ac? = | 2Bc | -| =BC Vs
4 4
9 2 1 2 1
- = BC?2_-—BC 7
16 16 §
5 5\ 8BC?
(AB _AC ) _ A
16
2
- % 1,
Q(ABQ—ACQJzBCQ s .

i bL:J:LLj{i“:JJ )’d)l:zé.. /»(jf

PF & PR-7012




